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2019(Odd) Old Syllabus

Time : 3Hrs. Sem. V-EEE
UEP & Ctrl
Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & it ufg 9ol @ SR <, TAS UeT &1 A9 83 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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10. A resistance oven employing nichrome wire (ii)

element is to be operated from 220v, single phase

supply and is to be rated at 16 KW. If the

temperature of element is to be limited to 1180°C

and average temperature of charge is 510°C, find

the diament and length of element wire.

Radiating efficiency =0.57, emissivity =0.9

specific resistance of Nichrome =109 x108Qm. (iii)
8

ve gfoRieg 9g) s As$d dR &1 Uferdi=

3, 220v Udhd Hol IR & T« Srar 2,9

saa ufad 16 fealare fafea 2| afe

gferi=e &1 arusd 1180°C a& Hifia faar (iif)

ST @ U4 Sird &7 3iEd arushd 510°C = <l

Uferfi=e AR @1 W18 U4 I SITd N |

fafevor &\da=0.57,IcaGiIdT =0.9, FIgHIHA &I

fafire yfeRig=109 x10°%a# o

(iv)
OR (3121an)

Explain electric braking used in D.C. motors.
What are the advantage of electric braking over
mechanical braking .Explain it in detail.
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g w8t &1 arushH ... &1 yRafda
o | Rt fear o gean @

(31 IRIfUa dlreew

(@) amus uferdie @ A

() uRuer g

(%) SWRiaa

........... method has leading power factor:
(a) Induction heating

(b) Arc heating

(c) Dielectric heating

(d) Resistance heating

....... fafer &1 s wifda oris grar 2@
(31) 9T ATU

(d) sm® aru+

GIRNECGEGILE

(%) ufo=rer o=

Magnetic materials are heated with the help
ofcee.

(a) Electric Arc

(b) Electric current

(c) Hysteresis loss

(d) Radiation

P.T.O



O°'Ld

| 20 1B IR & holdD

b khyjh DbRhe B3 2 1DMb RIG B0

$ Qlodd) rAD joh R oMipofroRd | 3
Llob B h& DDIp| 16 Dblb | orligojpoRd

“UWLIOJOABM PUE JINDIIO J[BIINS
ym 1 ure[dxq /IoY1oaI dABM [[NJ SE S)OB YDS

MOH DS JO S[IBIOP [BUOONIISUOD A} QLIS

(lprER)AO

| 3 Llob kIR % lehylh PpRhe RE

¢ e Ll MR o kel Lnb o bl
| RUERR b laBlyle
ARI1Q—221b GRE b 2blkb b bRIS

“JINDIIO J[qeyns Yym 31 urejdxyq

(IR[10NU0D JeaY Sk Pasn ST DV MOH DVIA
JO SO1SLIdIORIBYD [-A PUB UOONISU0D oy} uredxyg

|2 & (lkhe
B3 bh 3@ klab f ha DDap) b A
® 1:22p olie kple | plEkR & 1e5b Gl

vosec L1 £€90SLO

oAne3oU dpew

axe 90a1dyI0M Se [[om sk apondd[q yrog (p)
aanisod apew

a1e d0a1dyJom Sk [[am sk apo:nddg yrog (9)
aAnisod

20a1d310M pUE 9AIIBZOU dpRW ST IPOLIII[H (q)
dAne3au

o0a1d10M pue oAnIsod opew S1 9ponddH (B)

:Surppom a1y "D’ uI

Ekjlindjh (2)

$PbIRK RIPd b (B)

@pbidh RiR@K] (b)

220k Indf RIP@K] (i)

—2 Iblin Jk®| b LSD]b Glig (PalblR
LlRh® 1d loddh BRe] B b DRItk

Jouwojsuel], (p)

JojeUIR)E 9seyd o13uIg (9)

Jojeur)e oseyd a1y 1 (q)

Jojow uononpur aseyd 219y [, (B)
({SUIP[aM JIY IOJ pasn A[[e1oudd

st juowdimba Suimoroy a3 Jo Yoryay

lnxplb) ()

RI2 BRI (1)

ik php) (b)

wlie bBby (i)

—8 Blis ey

PRJIP [ IPRIZR I folbh Rlppih

£90SLO 14

(1)

(»)

(»)

(A7)

vose6c



39504 16 0T5063

yferrer daus ) @1 991de Ud & fafer &t
guiq s faa & 91 #) | 994 e
ygad ucrf & Ui B AT N |

OR (3121a1)

What are the advantage of electric heating? Explain
the differences between dielectric heating and

induction heating.

faegd a9 & 1 BRI 2? URIded drgd
Tq YO A1 H IR BT Ui Y |

What are the various methods of resistance welding?

Describe any two of them with neat diagram.

8
yfexier dfesT ) faftr= faferat sa—ata 37

o1 <1 &1 oo = & arer avis a |
OR (3121a1)

Explain arc welding. Describe in detail about

carbon arc welding and give its uses.

0T5063

(vi)

(vii)

(vii)

(viii)
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faseaRT e dfesT d—

(31) soldgls o-T® doIr 9 9
FOTHS 11T ST &

(@) sodgls FUMTHS aAT IR
THS 91T oITdl &

(W) soidgls U4 9hdi Il g ®
CEIR I

(]) sdidgls Ud 9oUN QI FoITdd
CEIR IV I

Electric Arc welding produces temperature
upto:

(a) 1000°C

(b) 1500°C

(c) 3500°C

(d) 5550°C

(31) 1000°C
(@) 1500°C
(&) 3500°C
(&) 5550°C

Welding leads have:

(a) High flexibility

(b) High current handling capacity
(c) Both (a) and (b)

(d) None of these
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6.

TUdh Q‘\E[oﬁo(ﬂ'l'\'o = frafya ed—si= Q-H
IfRfa ed—aife gfda 2?7 59 G |

OR (3721d1)

Draw V-I characteristics of SCR and Explain it.

THolodRo®m dicew SRR rfraeer &1
“id vd 39 9HIm |

Explain the V-I characteristics of zener diode.

SR SIS & dicc—VrR—R IARIIEToT &1
qufq d |

OR(3721d)

Which motor is used for cranes operation and why?

fra Aex &1 SUAT B9 A & fov fear
SITdT 2 3R FAN?

Explain the operation of TRIAC with neat ske‘[ch.4
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(x)

(xi)

(xi)

(xii)
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foa Mex &1 wIféT <fe Aftred ghar 28—
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(@) feascarr #Aofi Arex

() T® dolla 90T AR

(?) 37 9 @I =

Which motor is generally used in rolling
mills?

(a) D.C. shunt motor

(b) Double squirrel cage motor

(c) Slip ring induction motor

(d) Three phase synchronous motor

fod "ex &1 ST gy [Afer ANa A
fopar srar 287

(31) fascarT 2ie Hiex

(3) S9a TEHARA Dol Hlex

(|) i R 91 Arex

(%) e RETpIa Alex

Motor used in hair dryer is.............
(a) D.C. series motor

(b) Shaded pole motor

(c) Three phase induction motor
(d) Three phase synchronous motor
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GROUPB

Answer all Five Questions.

g uig g & SR o

2.

4x5=20

What are the advantages of electric heating over

other methods of heating? Explain it.

4

faera amu= fafer &1 gEr aru= fafer &1 sdan
T BRI 27 39 U ?
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(xiv)

(xv)

(xv)

(xvi)

U SR SIS ............. A} & HYar 32—
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@) 9% S84 a3

(&) =91 (1) vd (9)

() 37 4 »ig &

A DIAC is nothing else but a TRIAC without
1S e terminal.

(a) Anode

(b) Cathode

(c) Gate

(d) None of these

SA$ HB I8l © died Uh ¢lP © ol
|C i LE— <fiee &1 28—

() 37 4 »ig &

A TRIAC is equivalent to two SCRs
connected ..............

(a) In parallel

(b) In inverse parallel

(c) In series

(d) None of these
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